Prospects of Democracy in India

Activity 1: Comprehension
(A) Tick the correct alternative :
Question 1. Dr Ambedkar defines democracy as :

(a) an associated earning

(b) a mode of associated living
(c) a campaign

(d) a charity shop

Answer: (b) a mode of associated living
Question 2. Dr Ambedkar says that.

(a) caste system be abolished

(b) caste system be safe guarded

(c) caste system be replaced by Vyavastha
(d) religion has no place in democracy

Answer: (a) caste system be abolished

(B) Answer the following Questions in 30-40 words each:

Question 1. How does Dr Ambedkar describe democracy? Sl EESHR Ahdd Pl [bd

UHR afofd Hd 87

Answer: Dr Ambedkar describes democracy as a mode of associated living. He says that
the roots of democracy lie in the social relationship, and in the terms of associated life
between the people who form a society.

ST, IS HR A DI YgdRI S1a- B UG & ©0 J afd dxd 6| d Hed & [P
dlhdd Bl ol HHIID JrE=I Td FUTS ol I B dled alll &b HH GG Sl Pt
Tl # AR gl &1




Question 2. Why does Dr Ambedkar express doubts about India’s democratic

system? ST. FNSHY HRA B! AIHdlf~aP AT F IR § <8 T oaad HId 872

Answer: According to Dr Ambedkar, due to the existence of the caste system in Indian
society, democracy cannot exist in India in its true sense. So he expresses doubts about
India’s democratic system. Sl ETI o SR YR TS T Si1fd TR & &
& DHRU HRA H Ggl A1 H elichdd o] &I g1 gl bl | T d YR Bl

AIhdli-odh TR IR a8 odd HRd ¢ |

Question 3. How does Dr Ambedkar describe the existence of caste system in India

? S1. AFATHY HRd A FIifd UaT & 3Uf&Td T qui fHH PR H3d &2

Answer: Dr Ambedkar says that the Indian society does not consist of individuals. It
consists of a collection of innumerable castes. Indian society is so embedded in the
caste system that everything is organised on the basis of caste. 81, 3ISH Hed g (b
YR AT SRl & 81 o1 & | 38H SR SIfdl T ThaAhRUI § | HRAT TS STl
IR H a1 fAfed & [ Ud® I Sfd & SR R Ifdd 5

Question 4. How is the caste system against true democracy ? SIfd o4t g o R

d I Apdd & fAvg 2

Answer: The caste system is consisted of such features which militate against
democracy. These features include graded inequality, caste bound occupations,
deliberate stunting of growth and caste-based voting. STt U‘éﬂﬁﬁ T T&0T g S
Aihdd & [0vg ASTs dsd o | 37 &0l H e R, Sfd-9g U, gfaamid gfs
3FaRIY qYT Sf1fl ST Hea Qe |

Question 5. How can education help in destroying the caste system ? SIfel WAT Bt

Y B4 A R f5T UeR 7eg o3 Il a2

Answer: If education is given to the lower strata of the Indian society, it would raise
their spirit of rebellian. In this way education may help in destroying the caste system.
Ife URAH TUS & 9 ol & F1ei ue &1 91 a) 98 39 fagig &1 HIaT B deravit
U UHR TRI&T Tg T TUT BT T8 XA | Hag I Jobdl ¢




Question 6. What does Dr Ambedkar mean by ‘a democracy is more than a form of

a government’?ﬁ.WW’?ﬁWW%WN@WWW%’@
T 3T 3?2

Answer: Dr Ambedkar says that the roots of democracy lie not in the form of
Government. A democracy actually is more than a form of Government. It is primarily a
mode of associated living. 3T. 3TISHR Hd & [P Alhdd DI og WHR & =0 § fRYd
Tel 8| aRAd | Aipd~d IRPR P Th U Y ol 9ghR ¢ | I8 URMHS U J GgaRt A1
SECRISIEEKIRCAFAR R

(C) Answer the following Questions not exceeding 60-80 words each :

Question 1. What are the evil effects of the caste system and how do these stand

in the wayofdemocracy?WUW%@UWW%Gﬁ?ﬁFﬁWﬁWﬁW
TR ¥ (31U $ FYH) S §?

Answer: There are some special features of the caste system which have their evil
effects and which militate against democracy. These include graded inequality, complete
isolation, caste-bound occupations, caste-based voting etc. Castes are not equal in their
status. There is complete isolation between castes. One caste is bound to only one
occupation. In such conditions, Indian society is disorganised and factional. And all these
things in the caste system cut at the very roots of democracy. Jilid

U1 8 $6 a9 T&01 § fold X THTE & 3R Sl Aldhd-d & [avg asls ded ol 318
SR AT, YUf ST, Sfd-sg O, Sifa smenfa Taer 3nfe wnfire &1 shfaar 3=
TR H SRR 81 ¢ | Sl o 7ed qui 3@d g | U Sifd had U &l UL &l HRA & folg
a1em 71 U uRfRufert &y qaTST 3RiTTd SR Vel 81 SR oifar v & fya 3 aht
TTd Apa~d DI A TSl B Pleal g |

Question 2. What are the various obstacles in the way of ending the caste system ?
What remedies does Dr Ambedkar suggest to abolish the caste system ? SITf ot
DI HATH B & AR § HI-41 fafay areng §2 ST, srasay Si1fd YY1 &) FAIE S
& fore i Iura gId &2

Answer: According to Dr Ambedkar there are various obstacles in the way of ending the
caste system. The first obstacle lies in the system of graded inequality which is the soul
of the caste system. People are divided into two classes, higher and lower. The second
obstacle is that the Indian society is disabled by unity in action by not being able to



know what is its common good. Dr Ambedkar says that education may be solvent in
ending the caste system if it is applied to the lower strata of the Indian society.

SI. SESHR P HTUR ST YT BT JHTG B 1 A8 A B3 3aR0Y g | TSl faR1Y v
YT 1 gyt § fAfgd § S Sifa vt &) 31 81 @1 9= U g & vl §f & gu B
IR 3fARTY T8 | [ HRA THIS 39 dfS fed & Twe @ aife® U I srqmd g
& PR U] F1 3N ¢ | ST, 3ASSHR Had ¢ [ Tie HRATT JHIS & Y R BT e
S il T8 A U1 &7 3fd B § Th GHIUT 81 Fabell ¢ |

Question 3. Are the observations of Dr Ambedkar about the caste system in India
still relevant today ? What remedies would you like to suggest to end the caste

system ? FT HIRT A STfad WY1 & fawg & ST, srds®: 31 fewfomr smer +ff urifire 82
ST WYUT Y THTE HIA & AT 319 71 ST G AT 12

Answer: Dr Ambedkar’s observations about the caste system are not so relevant today,
as he made these observations about 60-65 years ago. Today, the downtrodden and
lower classes are getting better education. They have been provided reservation in
government jobs as well as in parliament and legislative assemblies. But, still a lot of
people are living a miserable life due to ignorance and poverty. However, the
government has made policies for their betterment. But the implementation of these
policies should be proper.

ST 9T o IR | BY. sAagaR &1 fewfrl STS It Wifies =gl &, Fif S5 3
feTfOraT TRTHT 60-65 A Ud @1 &ff | 31Tt g Ud 1 avf agar & U e 38 8 |
WHR Aebdl H Td I 3R AU e § I SREU Juds B 71 8| fobg, 31
1t 98 T AR ST 3R RIS & HRUT GGG Sita Sit 38 & | BTaAld TRBR - 31
JeRt & forg fifaal 918 || foveg 371 -t &1 foparagq Ifera €1 1 g =nfeu|

(D) Say whether the following statements are True or False. Write T for true and F
for False in the bracket :

1. Dr Ambedkar says that the roots of democracy are to be traced in social
relationship. [ ]

2. Dr Ambedkar suggests that education can solve the problem of untouchability. [ ]

3. Dr Ambedkar says that democracy can succeed only in those countries which are
rooted in caste system. [ ]

4. Graded inequality, says Dr Ambedkar, is a part of caste system. [ ]

5. Dr Ambedkar believes that Indian society is disabled by unity in action. [ ]



Answer:

True
True
False
True
True

A whn =

Activity 2: Vocabulary

(A) Match the words in column ‘A" with those in column ‘B'.

Column ‘A’ Column ‘B’

downtrodden very small money

pittance fair or just

equitable oppressed

Adult suffrage refusal

denial the right to vote for
all adults

deliberate intentional

pernicious harmful

Answer:
Column ‘A’ Column ‘B’

downtrodden oppressed

pittance very small money |

equitable fair or just

Adult suffrage the right to vote for
all adults

denial refusal

deliberate intentional

pernicious harmful

(B) Change the following into adjectives by adding a suitable affix-
Praise, Faction, Progress, Assign, Parliament



Answer:

Praise Praiseworthy
Faction Factional
Progress Progressive
Assign Assigned

Parliament Parliamentary

(C) The word ‘innumberable’ as used in this lesson also, means ‘countless’. There are
other words such as numerous, many, several, various, etc. Explain their difference of
meaning by using them into sentences.

Answer: many (dgd )- ST WA countable nouns & 1Y T Ydras Td
AHRIAD TRl H BIal 5 |

JalerUl- How many people came to the meeting ? | don't go to many concerts.
several (G ¥ 3% o= Igd SaTaT 781
JalerUl- Several letters arrived this morning.

He has written several books.

various (ﬁﬁﬂ)

JalgrUl- She took the job for various reasons.
numerous (EIT’:)RT@ITJED

3aleXUl- He has been late on numerous occassions.

countless (3I)

JalerUl- The new treatment can save lives of countless people.

innumerable (3I%)

JaleXUl- Innumerable books have been written on this subject.



Activity 3 : Grammar

Sequence of Tenses HTAl BT HIHH

U 919 H T H& IUAT U4 U 1 3 T3 IuaTed gl 6ebd g | S JoH fopar a1
Udh dI] past tense H 81 dl AT Iuared ot febard it Tram=gaan past tense 7 g ol B
Study the box below : el ¢ T STRT &1 3T HifoT

Tense of verb Tense of verb in
in main clause subordinate clause
Present He thinks that she will come. Future Simple
Past He thought that she would come. Conditional
Present He sees that he has made a mistake. Present Perfect
Past He saw that he had made a mistake. Past Perfect
Present I work so hard that I am always tired. Present

Past I worked so hard that I was always tired. | Past

Present Perfect He has done all that is required. Present

Past Perfect He had done all that was required. Past

Present He says that he is going to meet her. Present continuous
Past He said that he was going to meet her. Past continuous

However, when the subordinate clause expresses a universal truth, the verb is in present
tense form The Preacher said that God exists. The teacher said that the earth moves
round the sun. Now do the exercises given in your grammar book. 3{d (U] THRT Dt

A § fGU T 31l &l gdd SRk |
Activity 4: Speech Activity

Dr Ambedkar's role as Chairman of the Constitution Drafting Committee can hardly be
exaggerated. Discuss amongst the groups Dr Ambedkar’s contribution in framing the

Indian constitution. BT, 3FIS®R B! Tiau Al TfHfa & sreae & =9 H YHHT oI
SRFd B 9T TeT B I off YeheT 81 BT, SAASHR BT HRIg Tfaer & FHaior o
YHT W gl H faar famsi w1

Answer: We can discuss the following points : Bﬂﬁgﬁl@ﬁﬁﬂﬁw CERACERCT
qHhd gl




1. On 29th August, 1947 passing one resolution the Constituent Assembly appointed a
‘Drafting Committee’. There were seven members including Dot Ambedkar for preparing
a draft of the Constitution of the Independent India.

29 3T 1947 P! U YdTd TR HRep Tiay JuT = ol wfafe fFged o1 w@da yRa
& AU ! A1 S & oL 8. sdsa Uigd I1d e Y|

2. According to Gandhiji Dr Ambedkar was an outstanding legal and constitutional
expert.

el & AR ST, SFaSHR U ISP BT 3R Afqur fa=ws 3|

3. Because of his bright characteristics, as his deep and vast study, tremendous
knowledge, amazing command of an English language, expertness in explaining the
subject and ideals of patriotism, he was chosen as Chairman.

It WY fIRATATE S IHT e 9 Fagd 31T, SRR 1, SfST HIoT TR
Ay B R, TRUlET & fava quT sirexl & IHeH o YUl & HRUT 35 Siegef
ECIRICIN

4. He was the first and foremost leader of the depressed classes. He struggled for the
depressed classes for Human Rights and sociopolitical equality. e I & UuH g
SRTOt T &1 IR Gferd ol b A SHTIBRT qUT WIS Mo FHHdT & fag day
faar|

5. The contribution of Dr Ambedkar in Indian Democracy is not to be forgotten. As a
Chairman of the Constitutional Committee he gave a shape to our country of a
Complete Sovereign, Democratic and Republic based on adult franchise. YR Ardaa
T 3 SAdSH & ARG DI Tl Y off avd ¢ | Afau IAfa & siegel & ©u o I
30 SR ®I T Ul TYIT 0, TIPH TANUDBR b YR TR AbdiAd adl TdiAD
& FUH HR UM fhar g

6. Baba Saheb Ambedkar’'s name will be written in golden letters in the history of India
as a creator of social justice. IS <O & AR & =0 | o161 8d SFESHR HI A
YR | o SfdeT # WUl 31&R] I forar Sram |

7. He was one of the few sons in the History of India that can be said as the gift of
Indian freedom movement.

3 YRd & F3 e =0 § F T A g Wad YRd &1 SUBR Hal 5 TobdT| g |

8. If Mahatma Gandhi gave direction and lesson of morality, Baba Saheb gave shape to
Social aspect without exploitation.



gfe geTe el A Afdear o) RERA fear qur Afdwsd 1 urs e oY 91eT Jred A YT
Hed TS EfPepivr Uar faba|

9. He spent his whole life for the betterment of the poor, exploited and untouchables.

IR U1 1T Shta Tie, Mt 9 sl & IeR o fyamn|

Thus, Dr Ambedkar's contribution to the Indian Constitution is undoubtedly of the
highest order. Indeed he deserves to be called the "Father or the Chief Architect” of the
Indian Constitution. 38 UHR J, SI. SFISH HT R HfduM & grra [ gdi=
PR &1 81 J aIRad # YR Jfae™ & T Tafidl| HeaH & gheR gl

Activity 5 : Composition

Question 1. India is the largest democracy of the world. In democracy, the
importance of voting can hardly be exaggerated as it decides the destiny of a
democratic nation India as a nation suffers from some severe ills which are
certainly the obstacles to establish a democracy Gandhiji dreamt of. One such
obstacle is the caste system. Write an essay pointing out the ills of caste system
which seems to have played havoc with Indian polity.

YR IR FT JIY IS Aldhad ¢ | Adbad & AdeH & Hed B qRed ol sffarford faan
ST Hebell & | Hifch g Teh alepdiiey 1Y &b HII® Bl FuiRd S 51 Th AP &b T H
YR 31 $ THR Ttedl &I 3ia g1 ¢ ot o Y &0 9 7iieh off & gR1 38 T Wy &
qAldhda ! T & IR A ST 8 | T &1 T AT & SfawedT| vt &1 el i 3R
ZIRT HRd g U [y fafed St for Ut Iorcd &1 faA R @1 3|

Answer: Caste System and Democracy in India India has adopted the liberal democratic
system which is basically based on equality, liberty and justice. But the reality is quite
different. Caste system is prevalent in our country. And caste system is a bane to
democracy. Role of caste in elections has two dimensions. One is of the parties and
candidates and the second is of the voters. People vote on the basis of caste and
religion and do not take the merits of the candidate into consideration. India is the
world's largest democracy but everyday democracy fails. Even today one can't find a
dalit candidate contesting in the non-reserved constitution. To make democracy
successful in India we should oppose the caste system.

YR H SfauuT § dAibds | HRd = Wda Al diizae URERT 61 U St fb ga =T,
AT U1 <TG WR SR 8 | Afdh arafaaral foegpd 193 g1 SHR S H STIfd 0T s




21 3R Sfd g1 Aipdd & faAT &1 BRI B | gA1a § Sifd & &) S 81d § | T o urfeat
BT T SHTGAR! BT TUT GURT & TGS BHT| AT S qUT & & T8 TR dic STeld § ol
JUGAR & T[0T & IR H [qaR 81 #%d & | STD! RT3 &b HRUT Aldbad 30 39 & g1 T
21 B UH §9 711 g | HRd g1 &1 Ja9 §8T dlhad & didb Ufdfer didad SRIhd 8l
Tl ot off TRemfea & & faredt +ft gfera &1 g1a aed gU 18! &1 off ahdlT 8 | HIRd
T Aibad bl Yhd a1 & fore g8 Sifa g &1 foriey =1 =g e

Question 2. You will agree that the maker of a democratic nation is its voter. If
he/she abstain from voting, it is unlikely to establish democracy to the root.
Therefore, don’t you think that voting must be made mandatory ? Write an essay
expressing your ideas as to why voting be made mandatory.

3119 39 1 ¥ YA g1l fob T ¥ & AT S0P Aderdl 8id ¢ | Al o AdaH & HET 8!
AN A 3TF G TP Abad Pt RITIHT SPHTH AT 8 | 3T 341 3419 I8 78] A 8l fb
AdeH A HR g f3a1 ST A1fgd? 30 fdaR ad $Rd gU foh AdeH i SifHard s
fear ST el R ues ey fafad |

Answer: Voting must be Made Mandatory India is the largest democracy of the world
but it has many faults. One of which is voting. In India voting is not mandatory. So there
are many people who don’t take any interest in casting vote. There may be many
reasons behind this factor. But in my view voting must be made mandatory in our
country to make democracy a success. Some points in favour the compulsory voting can
be as follow :

1. After the.compulsory voting the victorious candidate will represent a majority of
the population, not just the politically motivated individuals who would vote
without compulsion.

2. After introducing the compulsory voting, it will become more difficult for extremist
or special interest groups to get themselves into power or to influence mainstream
candidates.

3. Political parties will not have to spend time and money to convince voters for
voting.

4. Compulsory voting would compel the people to be more practical in building a
government.

HAGH 1 TR 11 8 ST =ied HRd 3y b1 Fad §81 Alehaa § Al 5! 5
HEAT S| 399 I TP & AdeM | HRd H Ade™ iFarf 78t g1 33Tt 3Md v A &
& forT 981 oTd 81 39 UiY s IR SR 8l hd g Al M R A died ! 9%d




§T & e Ade o ifard s € S =R | sifard Aae & ue H oo fag 59
USR8 Thd 3 :

1. A AdeH & TyTd faorl STHIGaR SHReT & 9gd o §9 U &1 U@

?ﬁﬂ?ﬁﬁﬂﬁ%@@ﬁhﬁ@%ﬁﬁﬁ@ﬁ%&ﬁﬁﬁﬂ%%
|

2. A e & AN M & d1G, TREUTT o1 A=y S arel JHg! o fore ou= 3
DI MG T M T G- URT o AR B GHIFAd =1 BT g1 STa |

3. Wmmaﬁaﬁmaﬁﬁm@aﬁ$mquﬁ$mwammﬁ
HAT IS

4. A AAEH AN B! HTGING WRBR T & 1T a1 Ha|

Short Answer Type Questions
Answer the following Questions in 30 words each :

Question 1. What according to Dr Ambedkar, is the common perception about

democracy? S1. FATHR & AR AlDd~ & fA9T H AT AGYRUN T 37

Answer: According to Dr Ambedkar, it is supposed that where there is Parliament which
is elected by the people on adult suffrage and the laws are made by the people’s
representatives in Parliament, there is democracy. Sl WS o SR, g HIAT SIdI g
o T8I IR a0 AAMBR & HIEH ¥ AN gRT TG BT gA1d Bidl & AR T4 | o4
gfafAfat gRT 1A S8 91d § 981 Al gidl ¢

Question 2. What features does Indian society have? YR THTS & T A& 82

Answer: The Indian society does not consist of individuals. It consists of an innumerable
collection of castes which are exclusive in their life and have no common experience to
share and have no bond of sympathy. YR JHTS Afgad! | §1 §3ﬂ7-|€f%I g 3>A
SRl & UHATDHRUT U 1 g Sff 30 Sitad B IRTANR § 3R 3+ U die & o &l
FAGTAT SHd a1 1T 3R TRHfd BT H18 §= g giaTl

Question 3. What does the author mean by ‘Graded Inequality'? . PP U
q AE® BT T AU 82

Answer: The author explains graded inequality as the difference of status among castes.
Some castes are lower and some others are higher. They are jealous of one another.



AGH Hi® ST B! STl & 7 TR BT <R §d1d & | $S Sad] (9 & dl $S
33 ¢l d TP qIR! o Ul 3T 5|

Question 4. What is the difference between caste system and class system ? S
TGRIT UG U1 IaRIT H T 3R 87

Answer: The main difference between caste system and class system is that there is no
complete isolation in the class sytem as there is in the caste system. Sfd SgaRT Td quf
AT H YT 3R I8 ¢ o Iuf a1 H i a1 St gut 3ferTd el ]

Question 5. When is a society stably organised ? Ud JHIS @-RT‘ITQ\T{H? Tfed oq

g1 8?

Answer: A society is stably organised when each individual is doing an occupation for
which he has aptitude by nature in such a way to be useful to others. And it is the
business of society to discover these aptitudes and progressively to train them for social
use.

U JHS FRRAT A Tf3d da T8dl & 51d U A 98 BT B o It WiHifds
3iftrefa 8 o for a8 Rl & forg Suanht 81 9 | 3R g o1 99 31§ % 98 34
B Y WIS B Td I8 IS IUTNT & forg IR uiiemr ¢ |

Question 6. Why is an educated person belonging to the higher caste interested to

retain the caste system ? I STfd &1 Riféra safed Sfa 931 o a9 3@ d
feeraradt =i dar 82

Answer: An educated person belonging to the higher caste is more interested to retain
the caste system because education gives him an additional interest in the retention of
the caste system namely by opening additional opportunity of getting a bigger job.

I St o1 Riferd safad sifa gur & 991 W § $ife feeed) dar g ife fRran 32
ST T 1 5910 38 | sifalad 31 Uam adl § Srifq 39 forg aet et & sifafaa

3THR USH B! 2

Long Answer Type Questions
Answer the following Questions in 60 words each :

Question 1. What impression does Dr Ambedkar have while depicting Indian

society ? HROIT TS T qui HId THY ST. SSH & 3T faar &2



Answer: Dr Ambedkar says that when we speak of society, we conceive of it as one by
its very nature. The qualites which accompany the unity of society are praiseworthy
community of purpose and desire for welfare, loyalty to public ends and mutuality of
sympathy and co-operation. But these ideals are not found in Indian society. The Indian
society does not consist of individuals. It consists of an innumerable collection of castes
which are exclusive in their life and have no common experience to share and have no
bond of sympathy.

S1. SIISHR B © b S8 GH FHIS ] §1d B & ol oH 3 I WY Y 38 Th 8l
qAA € | THS & Udhed I ot AT §-UR-1g IEaURS THerd Td Hedul bl
3T, Frasi-e fed! & Uid 8T a Wergyld Td TganT & uR™R&dr| faeg I 3masf
YR FHTS H 81 el | HRIg FHTS! sdfekad] & &1 gl 781 ¢ | I8 34w Sfifad] &
THATEHRUN D G § ST 30 ohta H RFEIR g € 3R 3% U sfen & foe wis ad
HTHRT 3JHT 81 gidl U4 i TeTgH{d &I 8- 81 gidTl

Question 2. How does Dr Ambedkar prove that ‘everything is organised on the

basis of caste in Indian society ? 3. S HR fhd PR R ovd & fF uRdg
HHTS H g 914 WA & STYR U HI(Sd 82

Answer: Dr Ambedkar says that ‘everything is organised on the basis of caste in Indian
society’. An Indian cannot eat or marry with an Indian simply because he or she does not
belong to his or her caste. An Indian cannot touch an Indian because he or she does not
belong to his or her caste. An Indian votes for a candidate who belongs to his own
caste. All charity in India is communal. There is no room for the downtrodden and the
outcastes in politics, in industry, in commerce, and in education.

ST SSSHR HR € DI YR THIS T g T Sl b YR TR ISd 7' | T HRATT g2
YR & 1Y HISH 8] @R Jobal AT fdaTg ! B ddhdl Sulad il a8 Tl ol I3y
ITB! S T T B 1 T YR G HRAT I B T Jebell b I8 TWll/ToW Bt
Sifd ¥ 81 81 T YR 39 TR &I AdeH &l § ol 3P| WY B! oflfd Bl 8 | HRA
ﬁﬂgﬁ%cgﬂ AT g | G 3R 3gdl o fog ITerifd, ST, aTforsy ud Rren & &g
IEE RS




Passages for Comprehension
Read the following passages carefully and answer the Questions given below them :
Passage 1

Indian Society is so embedded in the Caste System that everything is organised on the
basis of caste. Enter Indian Society and you can see caste in its glaring form. An Indian
cannot eat or marry with an Indian simply because he or she does not belong to his or
her caste. An Indian cannot touch an Indian because he or she does not belong to his or
her caste. Go and enter politics and you can see caste reflected therein. How does an
Indian vote in an election? He votes for a candidate who belongs to his own caste and
no other. Go into the field of industry. What will you find? You will find that the topmost
men drawing the highest salary belong to the caste of the particular industrialist who
owns the industry. The rest hang on for life on the lowest rungs of the ladder on a
pittance.

Go into the field of commerce and you will see the same picture. The whole commercial
house is one camp of one caste, with no entry board on the door for others. Go into the
field of charity. With one or two exceptions all charity in India is communal. If a Parsi
dies, he leaves his money for Parsis. If a Jain dies, he leaves his money for Jains. If a
Marwadi dies, he leaves his money for Marwadis. If a Brahmin dies, he leaves his money
for Brahmins. Thus, there is no room for the downtrodden and the outcastes in politics,
in industry, in commerce, and in education.

1. How is everything organised in Indian Society ?

YR JHS B U §1d [ bR Jdd &2

2. How can one see caste in its glaring form ?

DI Afad I B ITH YUY T4 H HY ¢4 Honil ?

3. Why can an Indian not touch an Indian ?

T YR G YR B &1 ol § hdl?

4. How does an Indian vote in an election ?

TS YR gA1d § {5 TSR HdaH Hdl 87




5. Who draw highest salary in an industry ?

U I9NT H aiide add S dd a7

6. What can be seen in the field of charity in India ?

HRd H T & &7 § o7 3T 51 bl 87

7. Whom does a Parsi leave his money for, when he dies ?

TS URYT S 7R 4 30T ¢ fhaes forn sl Srar 82

8. Where is there no room for the downtrodden and the outcastes, according to the
author ?

AP P TR ferd! 3R 3l P T Fgf Bl S8 T8l 82

9. Find from the passage the words opposite in meaning to those given below
(a) highest
(b) exit

10. Make the plural forms of the following:
(a) society
(b) election

Answers: 1. In Indian Society, everything is organised on the basis of caste.

HRATT TA A U J1d Sifd & 3TYR W ITied ol

2. One can see caste in its glaring form by entering Indian Society.

YR THTS § A= b Pig U Sfd ! ¥ U H ¢ IHdT g |

3. An Indian cannot touch an Indian because he or she does not belong to his or her
caste.

T YR G YR B 18] Bl © Fifh I8 Tl/I3Y 39 Tl/gSY &1 Sl I 181 gial
gl

4. In an election, an Indian votes for a candidate who belongs to his own caste.

IA1d H T HRATT I TR B AAGH HRT § Sl SUD! QG B! ol 4 &l

5. In an industry, the persons who draw highest salary belong to the caste of the
particular industrialist who owns that industry.



IR § S ufky Faiidies aa oid € 9 ol 39 ITufa &1 oifd A 81d & & 39 SENT &7
mifere BT g

6. All charity in India is communal with one or two exceptions.

Teh 1 <) 3UAIE] ) BISHR R H YRT G AHUEIRID gial B

7. When a Parsi dies, he leaves his money for Parsis.

SId Th URE! Rl & dl a8 3101 ¢ IR} & o g S 31

8. According to the author, there is no room for the downtrodden and the outcastes in
politics, in commerce, in industry and in education.

TSI, IO, I Ud e H ferdl 3R g o oY s oe T8l &
9. (a) lowest, (b) enter

10. (a) societies, (b) elections

Passage 2

There is a third characteristic of the Caste System which cuts at the very roots of
democracy. It is that one caste is bound to one occupation. Society is no doubt stably
organised when each individual is doing that for which he has aptitude by nature in
such a way as to be useful to others; and that it is the business of society to discover
these aptitudes and progressively to train them for social use. But there is in a man an
indefinite plurality of capacities and activities which may characterise an individual. A
society to be democratic should open a way to use all the capacities of the individual.
Stratification is stunting of the growth of the individual and deliberate stunting is a
deliberate denial of democracy. How to put an end to the Caste System? The first
obstacle lies in the system of graded inequality which is the soul of the Caste System.

Where people are divided into two classes, higher and lower, it is easier for the lower to
combine to fight the higher, for there is no single lower class. The class consists of lower
and lowerer. The lower cannot combine with the lowerer. For the lower is afraid that if
he succeeds in raising the lowerer, he may well himself lose the high position given to
him and his caste.

1. Which characteristic of the Caste System cuts at the very roots of democracy ?

ST guT &1 H-3t faRvar dAiddd P 3Icl SIS ol Bred! 82




2. When is a society stably organised ?
A RR FU I HF I3d 8l 87

3. What is the business of the society ?
TS BT R B 52

4. What capacities does a man have ?

T T H 1 &I 81 67

5. What should a society to be democratic do?
Al dli~eich ST o oI THIS bl oI HRAT TNMGY?

6. What affects the growth of an individual ?
A & BRI B DI THTIAd BT 67

7. What is the soul of the Caste System ?
ST 94T Bt ST T 67

8. Why can the lower not combine with the lowerer ?

75 (ST &1 afad) adR & a1 &1 781 9 qban?

9. Find from the passage the words opposite in meaning to those given below
(a) fails
(b) singularity

10. Find from the passage the words which mean
(a) a job or profession
(b) obstruction

Answers: 1. In the Caste System, one caste is bound to one occupation. This

charactersistic of the Caste System cuts at the very roots of democracy. STf o H Uh

S T U & o | 1em g1 Sfa UUT ) g faRivar diddd B el SIS ol dred! B

2. A society is stably organised when each individual is doing that for which he has
aptitude by nature in such a way as to be useful to others. T IS ad RR =u 9
Tfed BT 8 O1d U Ul a8 SAadd Y forH I WrHIfde 3 § 3R 39 UhR

@ b a8 qERl & forg Iuarhl 81 Hab |



3. It is the business of the society to discover the aptitudes of men and train them for

social use. g GHTS &1 BT g P a8 Tl Bt THST BT UdT T 3R I5 ITATSID
IUanT & foru ufrféa 1|

4. A man has indefinite plurality of capacities and activities.

TP O™ ¥ SH13d e & &mand ud Tiafafedr gl |

5. A society to be democratic should open a way to use all the capacities of the
individual. A dTIeid ST P foTT THTST 1 HAfad &1 T &Earsit I HH T o &1 an

Qe 9|

6. Stratification stunts of the growth of the individual.
TRIPRUT AT o [THT BT 3ATG HIAT 5 |

7. Graded inequality is the soul of the Caste System.
SHTHD STAATT STl Tl Bt AT 3 |

8. The lower cannot combine with the lowerer because the lower is afraid that if he
raises the lowerer, he may loose the high position given to him and his caste.

9 ey o1 safe) FEaR & 1Y T8 I8 IhdT Fifes a8 a1 | & afe I FgaR o1
3371 fean aY 98 3= SR 3rut S1fd &1 St eR/ad ol @ |

9. (a) succeeds, (b) plurality
10. (a) occupation, (b) obstacle
Passage 3

Can education destroy caste? The answer is ‘'Yes' as well as ‘No'. If education is given as
it is today, education can have no effect on caste, it will remain as it will be. The glaring
example of it is the Brahmin caste. Cent per cent of it is educated, nay, majority of it is
highly educated. Yet not one Brahmin has shown himself to be against caste. In fact an
educated person belonging to the higher caste is more interested after his education to
retain the Caste System than when he was not educated. For education gives him an
additional interest in the retention of the Caste System namely by opening additional
opportunity of getting a bigger job.



From this point of view, education is not helpful as a means to dissolve caste. So far is
the negative side of education. But education may be solvent if it is applied to the lower
strata of the Indian Society. It would raise their spirit of rebellion. In their present state
of ignorance they are the supporters of the Caste System. Once their eyes are opened
they will be ready to fight the Caste System. The fault of the present policy is that
though education is being given on a larger scale, it is not given to the right strata of
Indian Society.

1. When can education have no effect on caste?
218 &1 S U UHTG Hd ol gl gbdT?

2. Which caste is totally educated ?

DI Srfe gofa: fRiférd 82

3. How many Brahmins have shown themselves to be against caste ?

S SITRION 2 WY &) Wiifa & fave uehia fear g2

4. Why is an educated person more interested to retain the Caste System ?

T TRI&IAT fer] Siifd YT 1 S 7@ | S1aT feererdt ol ol ?

5. When may education be solvent in dissolving the Caste System ?

ST UUT &) JHT B | e Hd THIYH 8 Tobal! 872

6. Why are lower caste people supporters of the Caste System ?

g Sfa & < winfa vt & wade &t 87

7. When will they be ready to fight the Caste System ?
d ST U1 & TS DI B AR g1

8. What does education give a man ?

14T 7 &Y o1 USH el 82

9. Find from the passage the words opposite in meaning to those given below
(a) minority
(b) positive



10. Make plural forms of the following words:
(a) opportunity
(b) effect

Answers: 1. If education is given as it is today, education can have no effect on caste.

gfe fren &) I YR UeH fhar o S {6 317t Ue &) 7 Tat @ df e &1 siifd w)
PIs UHTG ol g1 JobdT|

2. The Brahmin caste is totally educated.

STRIOT SR qufe: FRIf2rd 21

3. No Brahmin has shown himself to be against caste.

T Y SITEI0T 2 W ) Wi & 9o ueRid T8t foar 21

4. An educated person is more interested to retain the Caste system because education
gives him an additional interest in retention of the Caste system by opening additional
opportunities of getting a bigger job.

U RIférd sufaa snfa uut &) 991 wEq 7 warel feaaadt aar & ife Rien Sue) st
?ﬁ%aﬁ&wm@waﬁuwﬁmwﬁﬁgﬁ Sifafved feaaadt uem Hdt
|

5. Education may be solvent in dissolving the Caste System if it is applied to the lower
strata of the Indian Society.

%ﬁumﬁwmﬁﬁwwﬁaﬁ%ﬁ@uﬁaw%ﬁuaﬁﬁm
|

6. Lower caste people are supporters of the Caste System because they are in a state of
ignorance.

g Sfa & < sifa gt & gaefe 81 aifes 3 S &) SraRTH g

7. Once their eyes are opened, they will be ready to fight the Caste System.

TP TR ID! 3G G o <Y I ST YT § FSA & oy R &1 S|

8. Education gives a man additional opportunity of getting a bigger job.

e 77T B! 931 At uH & o sifafkad srawR UeH a8

9. (a) majority, (b) negative



10. (a) opportunities, (b) effects
Word-meanings and Hindi Translation
The subject .....cooveeieie a society. (Page 40)

Word- meanlngs assigned (Glﬂ'l's'{U?:) fAfdy, Tfar ) prospects @@m =
TS, Hfd® | democracy (@'FIT&D didad| diplomatic (fewrafes) = Pe-ldd | it
is held = T8 HSM AT 81 republic (RAfsT®) = MM | is supposed = AT ST 81 adult
suffrage (Wm JID ANIDR | representatives (ﬂ'ﬁl@ﬂ%@?ﬂ) gfaffe
instrument (BT\‘ETUE) Y| exists (E%REH) ﬁﬂlﬂﬂ% Gﬁ?dc_q’ﬁ?)'l caused @_&D
I foar | equating (_{a?ﬁ"[) WW@I FI'QT:{IIT:[?[E'QI parliamentary
(CI'IF\IJ'JZ\I"Uéﬁ) ITd | remove (ﬁ'&?{) ¥ PR, saé‘«m different (‘%’WUE) f¥4 1 roots
() = GI@I lie (<1lg) = @—R‘[Eﬁ:ﬂ a—rﬂl prlmarlly(Qquuﬁﬁ'D URMYS ¥0 | mode

@) = Wﬁf JUITCH | associated (SHIRITICSE) = Wgad, GEART | living (feffd) = SitaH |
relationship NW@TCD | terms (_C"f[GD d | society WTE"@) HHN |

fewal SrIaTe-go ol [y TiUT TR &, 98 § “HRd | didbd-d & a1 Hiaw g7” SHfIHmi
YRTT A 7d & 1Y T Sidd g HH) ST ¥ Ugd 9 gt ardba-d ol fadeft a oft
4§ YR P Fe-iiad T ¢1 & AT 1o 3t 08d IR 96d &€ df d He™ YR
TUTH 3R HE™ YR didd-d I a1d Hd ¢ | 38 deb B Uea B o1 8 Twem
ST & b ST81 0T+ @, 961 idbdwd Hi3d s a8 o AT STl © fob oigl 9ok
FASR ¥ Faffad df o 99e ¢ iR Ude $© ay a1a Haftad anl & gl gR1
TG B B S O1d ©, T81 A~ o | GO Xeal H, Aldhad Pl U Ao FTe
U ST 8 SR S8 U8 IIoHIfae T1eq i & 8, 981 didbdd ¢ | 71 YRd H ddd-d
8 1 T HRd § Aihd~d ol 87 I &1 8?2 T9 I Ds YHRIAD IR el [¢aT S Jebel
9 dP b Aepd & A & THH A TG Aidba-d DI GIG1I WRHR & FHH A
IUT YH DI ol gel fad1 ST Aidbdd U 0 I TG 3T TR GG IRPR A
fyepd fid 81 v &I IS WU T 3 fhefl PR & WHR & Wy § f¥yd 781
Bl 1 TP didhad WPHR & fohdl WY J Tgd: gidl ¢ | I8 URMRIS FU J Jgad ofiaH
P Ugld 8| Ahd~d B! TS| bl THIIS Jral H, JHIS B TeT B ard AT o 7
Tgad Siia- &1 Xl # TR ST a1 |

What does ........cccoeveiivnnnnnnn. education.(Pages 40-41)

Word- meanlngs connote(Eb_-ﬁE) T Gobd HIATI brlefly(ﬁzl'['q\ﬁ) Tférg =g I
conceive (OerId) P YAl PRI, HH%HII very nature @R ) = U = accompany
(B = JIY-TIY I, GAd g1 praiseworthy Osafd) = U= | community

@A) = YU | welfare (@1 ) = B loyalty (@r33ifee) = STl ends QU =




TdioH, 2| mutuality (ngcqq%ﬁ) = TRYWR&| cooperation (ﬁ—\ﬁ@?{l:[) = g4I
BTN consist (HII) = ¥ T BT individuals (3FSTISI3) = afe, AR
innumerable (SgHS) = e, SATOIA | castes (PREH) = S | exclusive (] R19)
- IRATTTR, 3771 bond @19 = F=F | sympathy (R = TEHYRI argue (317 =
ded PRl existence Sm T standing @%‘D RITt| denial (%TIE&IFD
= AP | embedded NTSE) = AT, AT everything @RI = Td® el
organised (&HTFHE_S) el glarlng (‘@IGTﬁT[) WI belong to = @[WQ@FH
Wéﬁ:ﬂl reflected (ﬁqﬁﬁ@r yfafafrad| topmost (CIU-INC) T4 | drawing (S'I'{"D
RG] particular (crﬁaga) ﬁﬁfﬁf WY | industrialist @S@Gﬁ?ﬂﬁ) RERILIGE hang
on (%‘TGI'FD W@:ﬂl rest @E} Y| lowest (?ﬁ'QE) fgds, o i & | rungs
) = ﬂ@:ﬁ?ﬂ?ﬂ'cﬁf{ &@Eﬁ@’qﬁ%@@fl Iadder (é@ = T, el pittance (ﬁET\‘:D
= 3fedaH, dgd ®H cl'-I{QOIIE;I commerce m 91y, AR | exceptions

= 3[UaTe| communal (IR = AT, TSI, (@&l 31 7) T WE & R )
WﬁWﬁﬂTG’IﬂT%I room (X*H) = ViTg, {le-ll A | outcastes (STICHICY ) =

31gd, Sfaeiespd |

fe=<l sraTe- T W%ﬂﬁﬂaﬁm%?ﬂaqﬁwma‘rwsﬂ AT BT T
H & dl g 39P IUTY WU I 3 TH & YHgd ¢ | obcqwl%daaq@eim&ﬂﬁqﬁﬂgv
TR GG, ATas-d JareH & fd 8T Td 98yl Td 9gdi &1 YRSl
‘IUTGﬁsHOb (HHM% Udhed & 1Y o g | T T 3SR YR J91eT H# U S71d 82
YR FHTS SfeRkrdl @ 18] §9d1 81 U8 il &1 31 3w His I o1 g1l & S $fu
Siig # IRATTIR 8d § SR 39 U s & fau #is off gdumr=g sva 781 grar $iR
DIs FEIIYI BT T=E T8l 8IdT| IH A DI &9 H 3@ §U Y A9 IR T84 Il
TGS g ¢ | S U1 BT ST THIS & 3 MG DI U9 I UHR Alhdd &
31f&T B Rt 3Rl § 1 MR FAS SHifer 5T § 31 Fiafed § 3 e =it offfal &
YR R WSd & | HRATT THS H YA BT 3R 31T ST ) ITb JIUP Wy H ¢
b1 | Toh HRA fohdl YR & T1Y HiSH Tl &R Gdbdl 9T [T Te! &R Gl A
3T Fif 98 T2W 1 W I Sfa ¥ FfAd 81 81 T MR R HRA Y -Te]
eﬁjﬂ%%ﬁmwwﬁwﬁﬁmﬁaﬁélmﬁ?ﬂﬁﬁﬁmw
31T STH ST ®I UfAfafiad <g Tavd €| Ueh YR gA1d | G [y JHR &l
€7 98 39 U Bl 7 <l § S SUP! WY Bl ofifa A FrafRid , 30 A | S b &
T SIS | 319 o1 R 319 URi fob e SaTaT aa- - dTel died diT 39 391 &
1o forelt @MY INTafd & Sfd & 8ld § 1 AW AT 3¢9 - U HRd g8 AT digt &
f9aH SUS R ek gU | AIMOT & & H S8 3R 317 ol &1 dwak oav | ot
OIS ERTT U g ST T WHT 3, ST &Rams! R ORI & fold ‘TawT gt &t ufeest @t
8| TFRiAdr & & T o3y | U 31 &) 37Udla) &l Bled HRd H Iruf g e g |
ﬁﬁéﬂw%ﬁ%mwmﬁmw%ﬁm%w%a%
YT & S 1 BIS ST 21 A Pls ARATS! HRAT § Al 98 U1 & ARSIl &l B
ST 21 AfE VS TR0 TRAT & O 98 SO o S0 &) B 9 2| 39 UHR, ST,
I, IO 3R e & gferdl iR sl & oy Pig I 81 g




There are other .......ccoceeeveevveennn. endosmosis. (Page 41)

Word-meanings : features (PTIeT) = &I, fa=ant| evil ('SETJIFD @g @TH militate
(fAfee) = g BT faRiy ST lies (@18) _ = fUT R graded @fSS) = Hitw, Jufigd|
ascending ( 31@%1'[) W@ﬂﬂﬁ%?ﬁﬁﬁ?ﬂﬁ%ﬁﬂﬁ%ﬁﬂwm%l scale
(@WD = H[Y, AT contempt WW:’) T, foRR| pernicious (C[ﬁ'ﬂﬂ)

faARI® | consequences (®IfRTI=TS) = GRUM| co- operation ( (@1- STIRR) = va%uﬁm
differ (F8W) = i3 8FT1 manifests () = odad HRdT &, T, TmIforg &ar 3|
stimulus (REEHY) = Eﬁ?\“ﬂ%ﬁl responce (QWF\‘D IR, Uldfeha| established
EfRTe) = -Ifud| eqwltable EfHId) = TRIRITA: 3| influences (S0 311) =
YA | slaves (RIoa) = TAM | — loses () = ‘@ﬁé?ﬂ%l interchange (30cd~) = fafAH,
GAT-gG&a | varying (ARET) = IRA-RIG, Uedl-gedl| modes (HIgw) = faftdl aia |
arrested (m >h T, I B T subject class (ﬂa@aeaam) 3efi gt |

prevents (iﬁém W%I social (@'-‘21?1) JMHISI® | endosmosis S@mﬁﬂ)
3IT:URIRUT (T8 31 § A & ffist aal &1 3o H fArer1-S[em |

fewal SIIaTe-oNa-UdT & 31 fa=Iy Aef0r T § foTehT §R1 WHTd BIdT & 3R Sl Aidhd~d &
fa%g ded &1 SiIfd U1 &1 V4T &) Ueb =1y darvr ST ‘shiHeh SRIHHT & HIY Yo g1
8| STl SOt UfasT & SRR 181 ¢ 4 Th & SR U U ¢ 1 4 Th guR & Ufd s=iq g |
g YUl &1 U 3RIg! THMT § 3R fRIBR HT a1t THHT | SIfd TdT o 9 A0 &
aitere fomT=re aiRomd gid § | I8 Wfwse Td STanT IganT & 9% &xdl g | Sifd iR guof
g 1d § fd | o aof soawn & v gof srerma A&t gYar o fo Sifa g & grar 3|
ST HaRIT & W SR & a6 I8 ga”l §-1 UHG ¢ | I8 WY 39 §1d BI JHIOId SRl
¢ & <1 onfaal & v UicaTe= ud ufaforan ad Teh-aRWT 8 | 3 i Ueh A1 a-ieh ¥
B B g 3R Y T B T RAfig aids F UGR 1 USdl 8 | 3P Hdad g b 5a
IR I & TIeTe T Ut &’ o foTE 31R UgRR & o Tl =TT S1aeR -1g! &l df 39
THaRaey T8 JHTT 37 8Id & ol & il &I Hifcid & ¥u H fIfdd ovd € 3R 3
N DI TATH & =0 T 9d St o 3HT & UREGRIT drid! &l Jad © 0 4 A
ST BIAT & df D &d BT ST 30T 31 W) T § 1 391 IR0 Bl & faRiwifiga
3R 3¢ I7f & =0 T THS HT fqUTH | T fUTSH Qo S IR (37fq
e ) &1 Ab ST

Thereis a ...ccceceecceennenvcecnenee his caste. (Pages 41-42)

Word-meanings: characteristic @Wﬁm = farerd, demr| very @R) = 31elt roots
(Fay) = aél is bound = §T¥ g | occupation (3TFIURI) = STTH; UM stably (STe)
- Ecsdllll\ddv FRRAT ] aptitude (@fPSTS) = 3HTHLF, SHMRII business (SFTY) = S|

discover (f&%d) = WISHT| progressively. (WIRIG) = ITRITR, Hifd U H| train (¢) =
ORI HAT11 indefinite SsithiAc) = AR, 3R plurality (@RTIe) = Igeem,




ST | characterise (PREEXTZS) = fa=war saaH1, TRA-fRE0 HAT| democratic
(f&Hidhfc®) = AHa-ad | stratification (ST BHIF) = WG, TRIATN | stunting
(&) = gfg b a1, e T8l ¢ W@ deliberate (STeraRe) = =R, Segt o= fbar
83111 denial ((§1Z31e)) = R”ABA | put an end (Ge TH TUS) = FHTW BT obstacle
(SHTSHCHT) = ARIY, FPHTAC | graded inequality (IS FTDII) = HFH SHHFI soul

() = 3MTATI combine (@IRTE) = SIS, TS HRATI consists of = T B in
raising = 6™ H | lowerer (A1) - offe |

fet 3raTe-Sfa saawT @ IS} fasivaT a8 g St Aidhd~d &1 3RIch Sfel ! &l et g
T8 § Ud Il &1 T &1 ORI B B & [o¢ a1 g1 T, Feg, RRdyd® dnféa
T8 & OId U fad 98 B B Forad Iqab! WrHifae Sifief § fod fb as i &
fere Uit 81 Wep; 3R U8 THIS T B § b a8 37 SifHoferd] 1 WIS B 3R I8
HHATIS SN & B FU URIAI ¢ | fbeq Uep afert H SRfAe T # & iR
ATt gic € Sl Ueh afad & faRivaT saard g | fedt T &1 Al g & forg
Afdd DI THA &I BT BT T o BT AAbT Y= BT Algl | TRIDHRU Afad B gig
DI AP BT § AR T AH-TIDBR (61 1T FraRIe Aebad o 1o1T STHGRIDHR DI 5
3RATPTA B 1 T ST bl FHIW b b S YUH FehTac hibeh SRHM § Ffgd 8
S 39 Sifd e Bt ST || ST81 a1 3w 9 9 &1 i | & U g, 98l Y a1 & 3=
I & Ao e & forw Tnfdd g1 SareT 3T 8 Siral @ Rife 9 ovf Had ue g oinfa
T 81 30 o | g 7 g wnfia €1 g d fFaaR & 9y 72 98 9@ | e g
i &1 U8 YA § % afe a8 Mo ufed & SR I3 & 9% 81 a1 1 98 W & 3R
T B Wil bl &l 78 I FRUf 1 @l

The second ......ccocovvveiieinnnen bigger job.(Page 42)

Word-meanings: disabled (%FQ_@IC_I{) tI":I,, &I'-‘HHHI action (Q?JFIF[) S| ultimately
(\?'f%ﬁlﬁ'l) &ﬂ?ﬁ"'k_cﬂ 3'If_dffl existence (sI‘\ﬂ%CrH) 31I%drd Tl at the mercy of (3IC
g 7Y 3ifd) = & I H| accident QAfRISTT) = YA TeT, YA, SABIH | caprice
@mﬂ) W | criterion (?:b"l%ﬁT&FD IITCIE'US' W?.P[I ratlonally m
fAddhYda, dHETTd &7 ¥ promote (YHIC) = U8 &AT, §@1al ¢l caste-bound =
SMfd-§& | ultimate (a?%ﬂa <M, TRH| come upon = (ﬂvﬂmﬁme|
insuperable (sﬂbl{dﬂ) 3T, IR | save ( @ED Rara| just (GI%e) = TR, Ifd|
harmonious (GIJ-I\Irq{-I) = {-Ifxsildlj\UIr, WI distracted (%@'% = & 4T, ﬁl?:b_fﬁﬁl
misled (FERAIE) = YfHE, TUYT | valuations (egURI) = Hed e, Hea4RoT|
perspectives (Udfdeas) = TRTeT, URET| factional (ﬁv_dQFlFD = YSPHRI, P ST ard|
sets up (S 370) = RTFUT FRal &, UG ST 81 standards (CVSGe]) = D, AFGUS |

consistency (PRI = IHS | remain (ﬁ"ﬁ:D eIl glaring (1@{3{”&1-[) WY | cent
per cent (8¢ IR Ye) = IA-UfARIA | ney () = Sfch | majority (FNRIC) = AR




interest (3fe) = M| retention (RS = YR, YRUT (FR=IR FHTT @ &1 UG |
namely (ﬁf%[) = 31"<’-ﬁ?‘[, 1|

femal SIaTG-geT SIARIY I8 § [ YR AT 30+ a9y fod & 90 § SRIwd
B & HRU HRIHGER § THETd DI doig J U §1 311 5| Wel - Fg1 g b Jarst o
TG 3Tl &I & YA & 39 R AR 31 afe g9 391 UaeH 78l 994 &, afe
©H ST i3d 81 I & O 89 TANT 3R % & 99 | g1 Wi | 5 b g9 TS &I
3eSTs T8 o Aid a9 dd AR U U8 fadeyde Ayg oA & fore 18 Arueus 181 § &
A DIH-T) grTa13M B UeHTed BT A1RU | UY T8 § fob, T HRGT JATS 3(U=t Siifal-
g a1 H I8 UTK HR Jobdl § SN 19 UY 32 B4 Taifies siaied 3raviy fied § for ue
T 3R TRGIaYU] AT STaT & Rarg U1 I THa el ¢ | o ST el &
3ATTd FeaTaqul AT TaRIT §1 Fahal! 82 HRAA! &I T 8 o118 3o oo MR iR
S Uil § I ffd 3R Yy 81 6T 81 Th SRS iR HedR! THI sot e o
faf¥rs 3meef 3R AFeUs wftd wvdr g1 Wt uRfufaal & yRdia safeaat & forw ug
3R § o 9 SIfd & Usl IR 0 H A B SaRIT deb Ugdl | T FRI&M Sf1fd &1 78 9
Tqopat 87 3PT IR ‘8 Y 8 3R el i1 afe e 39 bR e &t ol fory IR 3
UeH &1 51 61 8, ) Siifd R A& &1 HIS UHIT 81 81 IbdT| T8 I8! UBR g7 oI T g
D] Uh YP I&TeR0T TR0 o1ifd 8 1 39 i & rd-vfaerd @ fiféa € afew, 39
ST anT 3= FRifera g1 fpR oft fosaft oft smeron 3 o &) oifa) & favg uefia =gt foran
8| IA: 3 Sfd BT U Rfera fad oot e & a1g Sifd 0T &1 91 3@ § S1a]
e} dd1 g 9o S9% Sd 98 RIfdrd =8t Ut Fife fRien St Sfa vt & 991 35
# aifafad 3f ueM &t 8, i st Npst Urd w1 H Sifalked SraR ugH & | o1
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From this point .......cccceovveinnnes jeopardy. (Pages 42-43)

Word-meanings : from this point of view (LhTH feg grg—< &ﬁ’aa@ = sﬂmﬁl
dissolve (IS\TII(*OI) AT HRAT| soIvent (\‘:I'IFOI*_C’) HTIT%I'FT ‘x’ﬁ%f&'lﬂl is applied (91
AWIRS) = Hﬂlw?ﬂﬁﬁgl strata RTET) TR qsl NS X)) | raise @ETrD
G, HWR S| spirit (FRARE) = US| rebellian (Reed) = fagig, FMad| ignorance
IR = 3R, SFRRA vested @ReE) = AfRAI maintaining @) = IR ¥ T
advantages (gaIUCIOTS) =AY, fdd | strengthen (=) = fdkd ST, ASTgd BT
blowing up (Fcﬁg"'[ HY) =, Y DT _indiscriminate (3'%@0_%

| abolish (J&TTIRY) = IS BT, AT DHAT| poverty (Ul4:T) lﬁﬂgﬁl keep

up (1Y 3U) = §910 G| |mprove (37d) = URATI prospect (ARUF) =
tIﬁ?ﬁtﬂjeopardy ©IUfe) = shfed, dohe |

fewal SrIaTe-39 V@I 3, e S & THW HRA & U WY & €U & HGa R gl ¢
318 b R8T BT Y THRIAD Y&l | foo R THIUH 5 Tobailt B TS 38 YR JAN &
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TR DI g1 e <71 fo a1 Sfd 9T ¥ fire arel Ardl & SR SIfd Ul &1 9918 3181 |
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fRreg 3 S SIfQ Tt Y AT R H B dd €, af Siifd U1 TS 81 S| addE |
WHR TG SARIH! BISUSIH GRT AT B U™ &1 ST 381 Sifaddmyul 7ag Sifd u1 &t
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U B BT dlop] gl & | TgT ST Sif UAT JHI B3 & forg e ol Tied & wu #
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